
PAPER –1: FINANCIAL REPORTING 

QUESTIONS 

1. ABC Ltd. is a long-standing customer of XYZ Ltd.  Mrs. P whose husband is a director in 

XYZ Ltd. purchased a controlling interest in entity ABC Ltd. on 1st June, 2017.  Sales of 

products from XYZ Ltd. to ABC Ltd. in the two-month period from 1st April 2017 to 31st May 

2017 totalled ` 8,00,000.  Following the shares purchased by Mrs. P, XYZ Ltd. began to 

supply the products at a discount of 20% to their normal selling price and allowed ABC Ltd. 

three months’ credit (previously ABC Ltd. was only allowed one month’s credit, XYZ Ltd.’s 

normal credit policy).  Sales of products from XYZ Ltd. to ABC Ltd. in the ten-month period 

from 1st June 2017 to 31st March 2017 totalled ` 60,00,000.  On 31st March 2018, the trade 

receivables of XYZ Ltd. included ` 18,00,000 in respect of amounts owing by ABC Ltd. 

 Analyse and show how the above event would be reported in the f inancial statements of 

XYZ Ltd. for the year ended 31 March 2018  and mention the disclosure requirements also 

as per Ind AS.  

2. A Ltd. prepares its financial statements for the period ending on 31st March each year.  The 

financial statements for the year ended 2017-2018 is under preparation.  The following 

events are relevant to these financial statements: 

 On 1st April, 2016, A Ltd. purchased an asset for ` 20,00,000.  The estimated useful life of 

the asset was 10 years, with an estimated residual value of zero.  A Ltd. immediately leased 

the asset to B Ltd.  The lease term was 10 years and the annual rental, payable in advance 

by B Ltd., was ` 27,87,000.  A Ltd. incurred direct costs of ` 2,00,000 in arranging the 

lease.  The lease contained no early termination clauses and responsibility for repairs and 

maintenance of the asset rest with B Ltd. for the duration of the lease.  The annual rate of 

interest implicit in the lease is 8%.  At an annual discount rate of 8% the present value of 

` 1 receivable at the start of years 1–10 is ` 7·247.  

 Examine and show how the above event would be reported in the financial statements of 

A Ltd.. for the year ended 31st March, 2018 as per Ind AS.  

3. Mr. X, is the financial controller of ABC Ltd., a listed entity which prepares consolidated 

financial statements in accordance with Ind AS.  Mr. X has recently produced the final draft 

of the financial statements of ABC Ltd. for the year ended 31st March, 2018 to the managing 

director for approval.  Mr. Y, who is not an accountant, had raised following queries from 

Mr. X after going through the draft financial statements: 

(a) One of the notes to the financial statements gives details of purchases made by ABC 

Ltd. from PQR Ltd. during the period. Mr. Y own 100% of the shares in PQR Ltd..  

However, he feels that there is no requirement for any disclosure to be made in ABC 

Ltd.’s financial statements since the transaction is carried out on normal commercial 

terms and is totally insignificant to ABC Ltd., as it represents less than 1% of ABC 

Ltd.’s purchases. 
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(b) The notes to the financial statements say that plant and equipment is held under the 

‘cost model’. However, property which is owner occupied is revalued annually to fair 

value. Changes in fair value are sometimes reported in profit or loss but usually in 

‘other comprehensive income’.  Also, the amount of depreciation charged on plant 

and equipment as a percentage of its carrying amount is much higher than for owner 

occupied property.  Another note states that property owned by ABC Ltd. but rent out 

to others is depreciated annually and not fair valued.  Mr. Y is of the opinion that there 

is no consistent treatment of PPE items in the accounts.  Elucidate how all these 

treatments comply with the relevant Ind AS. 

(c) In the year to March, 2018, ABC Ltd. spent considerable amount on designing a new 

product.  ABC Ltd. spent the six months from April, 2017 to September, 2017 

researching into the feasibility of the product. Mr. X charged these research costs to 

profit or loss.  From October, 2017, A Ltd. was confident that the product would be 

commercially successful and A Ltd. is fully committed to finance its future 

development.  A Ltd. spent remaining part of the year in developing the product, which 

is expected to start from selling in the next few months. These development costs 

have been recognised as intangible assets in the Balance Sheet.  State whether the 

treatment done by Mr. X is correct when all these research and development costs 

are design costs.  Justify your answer with reference to relevant Ind AS. 

Provide answers to the queries raised by the managing director  Mr. Y as per Ind AS. 

4. X Ltd. is engaged in the construction industry and prepares its financial statements up to 

31st March each year.  On 1st April, 2013, X Ltd. purchased a large property (consisting of 

land) for ` 2,00,00,000 and immediately began to lease the property to Y Ltd. on an 

operating lease.  Annual rentals were ` 20,00,000.  On 31st March, 2017, the fair value of 

the property was ` 2,60,00,000.  Under the terms of the lease, Y Ltd. was able to cancel 

the lease by giving six months’ notice in writing to X Ltd.  Y Ltd. gave this notice on  

31st March, 2017 and vacated the property on 30th September, 2017.  On 30th September, 

2017, the fair value of the property was ` 2,90,00,000.  On 1st October, 2017, X Ltd. 

immediately began to convert the property into ten separate flats of equal size which X Ltd. 

intended to sell in the ordinary course of its business.  X Ltd. spent a total of ` 60,00,000 

on this conversion project between 30th September, 2017 to 31st March, 2018.  The project 

was incomplete at 31st March, 2018 and the directors of X Ltd. estimate that they need to 

spend a further ` 40,00,000 to complete the project, after which each flat could be sold for 

` 50,00,000.   

 Examine and show how the three events would be reported in the financial statements of 

X Ltd. for the year ended 31st March, 2018. as per Ind AS 

5. ABC Ltd. prepares consolidated financial statements upto 31st March each year.  On  

1st July 2017, ABC Ltd. acquired 75% of the equity shares of JKL Ltd. and gained control 

of JKL Ltd.  the issued shares of JKL Ltd. is 1,20,00,000 equity shares.  Details of the 

purchase consideration are as follows: 
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 On 1st July, 2017, ABC Ltd. issued two shares for every three shares acquired in 

JKL Ltd.  On 1st July, 2017, the market value of an equity share in ABC Ltd. was  

` 6.50 and the market value of an equity share in JKL Ltd. was ` 6. 

 On 30th June, 2018, ABC Ltd. will make a cash payment of ` 71,50,000 to the former 

shareholders of JKL Ltd. who sold their shares to ABC Ltd. on 1st July, 2017.  On 

1st July, 2017, ABC Ltd. would have to pay interest at an annual rate of 10% on 

borrowings.  

 On 30th June, 2019, ABC Ltd. may make a cash payment of ` 3,00,00,000 to the 

former shareholders of JKL Ltd. who sold their shares to ABC Ltd. on 1st July, 2017.  

This payment is contingent upon the revenues of ABC Ltd. growing by 15% over 

the two-year period from 1st July, 2017 to 30th June, 2019.  On 1st July, 2017, the 

fair value of this contingent consideration was ` 2,50,00,000.  On 31st March, 2018, 

the fair value of the contingent consideration was ` 2,20,00,000. 

 On 1st July, 2017, the carrying values of the identifiable net assets of JKL Ltd. in the books 

of that company was ` 6,00,00,000.  On 1st July, 2017, the fair values of these net assets 

was ` 7,00,00,000.  The rate of deferred tax to apply to temporary differences is 20%. 

 During the nine months ended on 31st March, 2018, JKL Ltd. had a poorer than expected 

operating performance. Therefore, on 31st March, 2018 it was necessary for ABC Ltd. to 

recognise an impairment of the goodwill arising on acquisition of JKL Ltd., amounting to 

10% of its total computed value.  

 Compute the impairment of goodwill in the consolidated financial statements of ABC Ltd. 

under both the methods permitted by Ind AS 103 for the initial computation of the non-

controlling interest in JKL Ltd. at the acquisition date. 

6. X Ltd. prepares consolidated financial statements to 31st March each year.  During the year 

ended 31st March 2018, the following events affected the tax position of the group:  

(i) Y Ltd., a wholly owned subsidiary of X Ltd., made a loss adjusted for tax purposes of 

` 30,00,000.  Y Ltd. is unable to utilise this loss against previous tax liabilities .  

Income-tax Act does not allow Y Ltd. to transfer the tax loss to other group companies.  

However, it allows Y Ltd. to carry the loss forward and utilise it against company’s 

future taxable profits.  The directors of X Ltd. do not consider that Y Ltd. will make 

taxable profits in the foreseeable future. 

(ii) Just before 31st March, 2018, X Ltd. committed itself to closing a division after the 

year end, making a number of employees redundant. Therefore X Ltd. recognised a 

provision for closure costs of ` 20,00,000 in its statement of financial position as at 

31st March, 2018.  Income-tax Act allows tax deductions for closure costs only when 

the closure actually takes place.  In the year ended 31 March 2019, X Ltd. expects to 

make taxable profits which are well in excess of ` 20,00,000.  On 31st March, 2018, 

X Ltd. had taxable temporary differences from other sources which were greater than 

` 20,00,000. 
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(iii) During the year ended 31 March 2017, X Ltd. capitalised development costs which 

satisfied the criteria in paragraph 57 of Ind AS 38 ‘Intangible Assets’.  The total 

amount capitalised was ` 16,00,000.  The development project began to generate 

economic benefits for X Ltd. from 1st January 2018.  The directors of X Ltd. estimated 

that the project would generate economic benefits for five years from that date.  The 

development expenditure was fully deductible against taxable profits for the year 

ended 31 March 2018. 

(iv) On 1 April 2017, X Ltd. borrowed ` 1,00,00,000.  The cost to X Ltd. of arranging the 

borrowing was ` 2,00,000 and this cost qualified for a tax deduction on 1 April 2017.  

The loan was for a three-year period.  No interest was payable on the loan but the 

amount repayable on 31 March 2020 will be ` 1,30,43,800.  This equates to an 

effective annual interest rate of 10%.  As per the Income-tax Act, a further tax 

deduction of ` 30,43,800 will be claimable when the loan is repaid on 31st March, 

2020. 

 Explain and show how each of these events would affect the deferred tax assets / liabilities 

in the consolidated balance sheet of X Ltd. group at 31 March, 2018 as per Ind AS.  Assume 

the rate of corporate income tax is 20%. 

7. A Ltd. intends to open a new retail store in a new location in the next few weeks.  It has 

spent a substantial sum on a series of television advertisements to promote this new store.  

It has paid for advertisements costing ` 8,00,000 before 31st March, 2018.  ` 7,00,000 of 

this sum relates to advertisements shown before 31 st March, 2018 and ` 1,00,000 to 

advertisements shown in April, 2018.  Since 31st March, 2018, A Ltd. has paid for further 

advertisements costing ` 4,00,000.  The accountant charged all these costs as expenses 

in the year to 31 March 2018.  However, CFO of A Ltd. does not want to charge `12,00,000 

against 2017-2018 profits.  He believes that these costs can be carried forward as 

intangible assets because the company’s market research indicates that this new store is 

likely to be highly successful.  

 Examine and justify the treatment of these costs of ` 12,00,000 in the financial statements 

for the year ended 31st March, 2018 as per Ind AS. 

8. On 1st January, 2018, P Ltd. purchased a machine for $ 2 lakhs.  The functional currency 

of P Ltd. is Rupees.  At that date the exchange rate was $1= ` 68.  P Ltd. is not required 

to pay for this purchase until 30 th June, 2018.  Rupees strengthened against the $ in the 

three months following purchase and by 31st March, 2018 the exchange rate was  

$1 = ` 65.  CFO of P Ltd. feels that these exchange fluctuations wouldn’t affect the financial 

statements because P Ltd. has an asset and a liability denominated in rupees.  which was 

initially the same amount. He also feels that P Ltd. depreciates this machine over four 

years so the future year-end amounts won’t be the same.   

 Examine the impact of this transaction on the financial statements of P Ltd. for the year 

ended 31st March, 2018 as per Ind AS. 
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9. A Ltd. prepares its financial statements to 31st March each year.  It operates a defined 

benefit retirement benefits plan on behalf of current and former employees.  A Ltd. receives 

advice from actuaries regarding contribution levels and overall liabilities of the plan to pay 

benefits.  On 1st April, 2017, the actuaries advised that the present value of the defined 

benefit obligation was ` 6,00,00,000.  On the same date, the fair value of the assets of the 

defined benefit plan was ` 5,20,00,000.  On 1st April, 2017, the annual market yield on 

government bonds was 5%.  During the year ended 31st March, 2018, A Ltd. made 

contributions of ` 70,00,000 into the plan and the plan paid out benefits of ` 42,00,000 to 

retired members.  Both these payments were made on 31st March, 2018. 

 The actuaries advised that the current service cost for the year ended 31st March, 2018 

was ` 62,00,000.  On 28th February, 2018, the rules of the plan were amended with 

retrospective effect.  These amendments meant that the present value of the defined 

benefit obligation was increased by ` 15,00,000 from that date.  

 During the year ended 31st March, 2018, A Ltd. was in negotiation with employee 

representatives regarding planned redundancies.  The negotiations were completed 

shortly before the year end and redundancy packages were agreed.  The impact of these 

redundancies was to reduce the present value of the defined benefit obligation by  

` 80,00,000.  Before 31st March, 2018, A Ltd. made payments of ` 75,00,000 to the 

employees affected by the redundancies in compensation for the curtailment of their 

benefits.  These payments were made out of the assets of the retirement benefits  plan.  

 On 31st March, 2018, the actuaries advised that the present value of the defined benefit 

obligation was ` 6,80,00,000.  On the same date, the fair value of the assets of the defined 

benefit plan were ` 5,60,00,000. 

 Examine and present how the above event would be reported in the financial statements 

of A Ltd. for the year ended 31st March, 2018 as per Ind AS.   

10. On 1st October, 2017, A Ltd. completed the construction of a power generating facility. The 

total construction cost was ` 2,00,00,000.  The facility was capable of being used from 1st 

October, 2017 but A Ltd. did not bring the facility into use until 1st January, 2018.  The 

estimated useful life of the facility at 1st October, 2017 was 40 years.  Under legal 

regulations in the jurisdiction in which A Ltd. operates, there are no requirements to restore 

the land on which power generating facilities stand to its original state at the end of the 

useful life of the facility.  However, A Ltd. has a reputation for conducting its business in 

an environmentally friendly way and has previously chosen to restore similar land even in 

the absence of such legal requirements.  The directors of A Ltd. estimated that the cost of 

restoring the land in 40 years’ time (based on prices prevailing at that time) would be  

` 1,00,00,000.  A relevant annual discount rate to use in any discounting calculations is 

5%.  When the annual discount rate is 5%, the present value of ` 1 receivable in 40 years’ 

time is approximately 0.142.  

 Analyse and present how the above events would be reported in the financial statements 

of A Ltd. for the year ended 31st March, 2018 as per Ind AS.   
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11. As at 31st March, 2017, a plantation consists of 100 Pinus Radiata trees that were planted 

10 years earlier.  The tree takes 30 years to mature, and will ultimately be processed into 

building material for houses or furniture.  The enterprise’s weighted average cost of capital 

is 6% p.a. 

 Only mature trees have established fair values by reference to a quoted price in an active 

market. The fair value (inclusive of current transport costs to get 100 logs to market) for a 

mature tree of the same grade as in the plantation is: 

     As at 31st March, 2017: 171 

     As at 31st March, 2018: 165 

 Assume that there would be immaterial cash flow between now and point of harvest.  

 The present value factor of ` 1 @ 6% for  

 19th year = 0.331 

 20th year = 0.312 

 State the value of such plantation as on 31st March, 2017 and 2018 and the gain or loss 

to be recognised as per Ind AS.   

12. K Ltd. began construction of a new building at an estimated cost of ` 7 lakh on  

1st April, 2017.  To finance construction of the building it obtained a specific loan of  

` 2 lakh from a financial institution at an interest rate of 9% per annum.  

 The company’s other outstanding loans were: 

Amount Rate of Interest per annum 

` 7,00,000 12% 

` 9,00,000 11% 

 The expenditure incurred on the construction was: 

April, 2017 ` 1,50,000 

August, 2017 ` 2,00,000 

October, 2017 ` 3,50,000 

January, 2018 ` 1,00,000 

 The construction of building was completed by 31st January, 2018.  Following the 

provisions of Ind AS 23 ‘Borrowing Costs’, calculate the amount of interest to be capitalized 

and pass necessary journal entry for capitalizing the cost and borrowing cost in respect of 

the building as on 31st January, 2018. 

13. ABC Ltd is setting up a new refinery outside the city limits. In order to facilitate the 

construction of the refinery and its operations, ABC Ltd. is required to incur expenditure 

on the construction/development of railway siding, road and bridge. Though ABC Ltd. 
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incurs (or contributes to) the expenditure on the construction/development, it will not 

have ownership rights on these items and they are also available for use to other entities 

and public at large. Whether ABC Ltd. can capitalise expenditure incurred on these items 

as property, plant and equipment (PPE)? If yes, how should these items be depreciated 

and presented in the financial statements of ABC Ltd. as per Ind AS? 

14. Smart Technologies Inc. is a Company incorporated in India in 1998 having business in 

the field of development and installation of softwares, trading of computer peripherals and 

other IT related equipment and provision of cloud computing services along with other 

services incidental thereto. It is one of the leading brands in India.  

 After witnessing immense popularity and support in its niche market, Smart Technologies 

further grew by bringing its subsidiaries namely: 

Company Name Principle Activity 

Cloudustries India Private Limited Provision of cloud computing services. 

MicroFly India Private Limited Trading of computer peripherals like mouse, 
keyboard, printer etc. 

 Smart Technologies started preparing its financial statements based on Ind AS from  

1st April, 2015 on voluntary basis.  The Microfly India Pvt. Ltd. is planning to merge the 

business of Cloudstries India Pvt. Ltd. with its own for which it presented before the 

members in the meeting the below extract of latest audited Balance Sheet of Cloudustries 

(prepared on the basis of Ind AS) for the year ended 31st March, 2017: 

Balance Sheet as at March 31, 2017        (` in Crores) 

Assets  

Non-current assets  

 Property, plant and Equipment 15.00 

 15.00 

Current Assets  

(a) Financial assets  

  Trade Receivables 10.00 

  Cash and cash equivalents 10.00 

Other current assets 8.00 

 28.00 

Total 43.00 
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Equity and Liabilities  

Equity  

 Equity Share Capital 45.00 

 Other Equity  

  Reserves and Surplus (Accumulated Losses)* (24.80) 

   20.20 

Liabilities  

Non-current Liabilities  

 Financial liabilities  

  Borrowings 2.80 

Current Liabilities 20.00 

 22.80 

Total  43.00 

 *The Tax Loss carried forward of the company is ` 27.20 crores 

 On September 5, 2017, the merger got approved by the Directors.   The purchase 
consideration payable by MicroFly to Cloudustries was fixed at ` 18.00 crores payable 
in cash and that MicroFly take over all the assets and liabilities of Cloudustries.  

 Present the statement showing the calculation of assets/liabilities taken over as per  
Ind AS.  Also mention the accounting of difference between consideration and 
assets/liabilities taken over. 

15. M Ltd. has three cash-generating units: A, B and C.  Due to adverse changes in the 
technological environment, M Ltd. conducted impairment tests of each of its cash-
generating units.  On 31st March, 2018, the carrying amounts of A, B and C are ` 100 
lakhs, ` 150 lakhs and ` 200 lakhs respectively. 

 The operations are conducted from a headquarter.  The carrying amount of the 
headquarter assets is ` 200 lakhs: a headquarter building of ` 150 lakhs and a research 
centre of ` 50 lakhs.  The relative carrying amounts of the cash-generating units are a 
reasonable indication of the proportion of the head-quarter building devoted to each 
cash-generating unit.  The carrying amount of the research centre cannot be allocated 
on a reasonable basis to the individual cash-generating units. 

Following is the remaining estimated useful life of:  

 A B C Head quarter assets 

Remaining estimated useful life 10 20 20 20 

The headquarter assets are depreciated on a straight-line basis. 
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 The recoverable amount of each cash generating unit is based on its value in use since 

net selling price for each CGU cannot be calculated.  Therefore, Value in use is equal to 

 A B C M Ltd. as a whole 

Recoverable amount 199 164 271 720* 

 *The research centre generates additional future cash flows for the enterprise as a whole. 

Therefore, the sum of the value in use of each individual CGU is less than the value in use 

of the business as a whole. The additional cash flows are not attributable to the 

headquarter building. 

 Calculate and show allocation of impairment loss as per AS 28.  Ignore tax effects.  

16. Sumati Ltd. acquired 100% (50,00,000) equity shares of ` 10 each in Sheetal Ltd. on  

1st April, 2014.  Sheetal Ltd. was incorporated on 1st April, 2014. 

 Sumati Ltd. acquired 80% (24,00,000) equity shares in Dharam Ltd. for ` 600 lakh on  

1st April, 2014 when Dharam Ltd. had share capital of ` 300 lakh and Reserves and Surplus 

of ` 300 lakh.  

 The company amortizes goodwill on consolidation on a SLM basis over a period of 5 years.  

A full year's amortization is considered if the goodwill exists for more than 6 months.  

On 1st April, 2017, Sumati Ltd. sold 12,00,000 equity shares of Dharam Ltd. for cash 

consideration of ` 360 lakh with recognition of profit arising out of this sale.  

 The net assets of Dharam Ltd. on 31st March, 2017 were ` 700 lakh.  The amount of 

Reserves and Surplus was ` 880 lakh, ` 720 lakh and ` 400 lakh respectively of  

Sumati Ltd., Sheetal Ltd. and Dharam Ltd. on 31st March, 2017.  

 The Balance Sheet extracts of the companies as on 31st March, 2018 were as follows:  

(` in lakh) 

 Sumati Ltd. Sheetal Ltd. Dharam Ltd. 

Share Capital (` 10 each) 1000 500 300 

Reserves and Surplus 1240 910 640 

Current Liabilities   460   490   560 

 2700 1900 1500 

Fixed Assets 640 420 380 

50,00,000 equity shares in Sheetal Ltd. 500   

12,00,000 equity shares in Dharam Ltd. 300   

Current Assets 1260 1480 1120 

 2700 1900 1500 
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 You are required to prepare for Sumati Ltd. Group Balance Sheet as on 31st March, 2018 

following AS 21 and AS 23.  Notes to Accounts and working notes should form part of your 

answer.   

17. On 1st April 2017 Alpha Ltd. commenced joint construction of a property with Gama Ltd.  

For this purpose, an agreement has been entered into that provides for joint operation and 

ownership of the property. All the ongoing expenditure, comprising maintenance plus 

borrowing costs, is to be shared equally. The construction was completed on 30th  

September 2017 and utilisation of the property started on 1st January 2018 at which time 

the estimated useful life of the same was estimated to be 20 years.  

 Total cost of the construction of the property was ` 40 crores. Besides internal accruals, 

the cost was partly funded by way of loan of ` 10 crores taken on 1st January 2017. The 

loan carries interest at an annual rate of 10% with interest payable at the end of year on 

31st December each year. The company has spent ` 4,00,000 on the maintenance of such 

property.  

 The company has recorded the entire amount paid as investment in Joint Venture in the 

books of accounts. Suggest the suitable accounting treatment of the above transaction as 

per applicable Ind AS.  

18. On 1st April 2017, A Ltd. lent ` 2 crores to a supplier in order to assist them with their 

expansion plans. The arrangement of the loan cost the company ` 10 lakhs. The company 

has agreed not to charge interest on this loan to help the supplier's short -term cash flow 

but expected the supplier to repay ` 2.40 crores on 31st March 2019. As calculated by the 

finance team of the company, the effective annual rate of interest on this loan is 6.9% On 

28th February 2018, the company received the information that poor economic climate has 

caused the supplier significant problems and in order to help them, the company agreed 

to reduce the amount repayable by them on 31st March 2019 to ` 2.20 crores. Suggest 

the accounting entries as per applicable Ind AS.  

19. P Ltd. granted 400 stock appreciation rights (SAR) each to 75 employees on 1st April 2017 

with a fair value ` 200. The terms of the award require the employee to provide service for 

four years in order to earn the award. The fair value of each SAR at each reporting date is 

as follows: 

 31st March 2018   ` 210 

 31st March 2019  ` 220 

 31st March 2020  ` 215 

 31st March 2021  ` 218 

 What would be the difference if at the end of the second year of service (i.e. at 31 st March 

2019), P Ltd. modifies the terms of the award to require only three years of service.  Answer 

on the basis of relevant Ind AS. 
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20. U Ltd. is a large conglomerate with a number of subsidiaries. It is preparing consolidated 

financial statements as on 31st March 2018 as per the notified Ind  AS. The financial 

statements are due to be authorised for issue on 15th May 2018. It is seeking your 

assistance for some transactions that have taken place in some of its subsidiaries during 

the year.  

 G Ltd. is a wholly owned subsidiary of U Ltd. engaged in management consultancy 

services.  On 31st January 2018, the board of directors of U Ltd. decided to discontinue the 

business of G Ltd. from 30 th April 2018. They made a public announcement of their decision 

on 15th February 2018.  

 G Ltd. does not have many assets or liabilities and it is estimated that the outstanding 

trade receivables and payables would be settled by 31st May 2018. U Ltd. would collect 

any amounts still owed by G Ltd’s customers after 31st May 2018. They have offered the 

employees of G Ltd. termination payments or alternative employment opportunities.  

 Following are some of the details relating to G Ltd.:  

 -  On the date of public announcement, it is estimated by G Ltd. that it would have to pay 

540 lakhs as termination payments to employees and the costs for relocation of 

employees who would remain with the Group would be ` 60 lakhs. The actual 

termination payments totalling to ` 520 lakhs were made in full on 15th May 2018. As 

per latest estimates made on 15th May 2018, the total relocation cost is ` 63 lakhs.  

 - G Ltd. had taken a property on operating lease, which was expiring on 31st March 

2022. The present value of the future lease rentals (using an appropriate discount rate) 

is ` 430 lakhs. On 15th May 2018, G Ltd. made a payment to the lessor of ` 410 lakhs 

in return for early termination of the lease.  

 The loss after tax of G Ltd. for the year ended 31st March 2018 was ` 400 lakhs. G Ltd. 

made further operating losses totalling ` 60 lakhs till 30th April 2018.  

 How should U Ltd. present the decision to discontinue the business of G Ltd. in its 

consolidated statement of comprehensive income as per Ind AS?  

 What are the provisions that the Company is required to make as per lnd AS 37?  

SUGGESTED ANSWERS 

1. XYZ Ltd. would include the total revenue of ` 68,00,000 (` 60,00,000 + ` 8,00,000) from 

ABC Ltd. received / receivable in the year ended 31st March 2018 within its revenue and 

show ` 18,00,000 within trade receivables at 31st March 2018. 

 Mrs. P would be regarded as a related party of XYZ Ltd. because she is a close family 

member of one of the key management personnel of XYZ Ltd. 
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 From 1st June 2017, ABC Ltd. would also be regarded as a related party of XYZ Ltd. 

because from that date ABC Ltd. is an entity controlled by another related party. 

 Because ABC Ltd. is a related party with whom XYZ Ltd. has transactions, then XYZ Ltd. 

should disclose: 

– The nature of the related party relationship. 

–  The revenue of ` 60,00,000 from ABC Ltd. since 1st June 2017. 

–  The outstanding balance of ` 18,00,000 at 31st March 2018.  

In the current circumstances it may well be necessary for XYZ Ltd. to also disclose the 

favourable terms under which the transactions are carried out.  

2. All numbers in ` in 000. 

 The lease of the asset by A Ltd. to B Ltd. would be regarded as a finance lease because 

the risks and rewards of ownership have been transferred to B Ltd.  Evidence of this 

includes the lease is for the whole of the life of the asset  and B Ltd. being responsible for 

repairs and maintenance.  

 As per para 36 of Ind AS 17, since the lease is a finance lease and A Ltd. is the lessor, A 

Ltd. will recognise a financial asset ie. as a receivable at an amount equal to the ‘net 

investment in finance leases’. The amount recognised will be the present value of the 

minimum lease payments which will be 20,197.39 ie. 2,787 x 7.247.  

 The impact of the lease on the financial statements for the year ended 31st March, 2018 

can best be seen by preparing a profile of the net investment in the lease for the first three 

years of the lease and shown below: 

Year to 31st March Opening Balance Finance income Rental Closing 
Balance  

2017 20,197.39 1,615.79 (2,787) 19,026.18 

2018 18,806 1,522.09 (2,787) 17,761.27 

2019 17,301 1,420.90 (2,787) 16,395.17 

 During the year ended 31st March, 2018, A Ltd. will recognise income from finance leases 

of 1,522.09. 

 The net investment on 31st March, 2018 will be 17,761.27. 

 Of the closing net investment of 17,761.27, current asset will be shown for 2,787 and 

14,974.27 as a non-current asset. 

3. Ongoing through the queries raised by the Managing Director Mr. Y, the financial controller 

Mr. X explained the notes and reasons for their disclosures as follows:  

(a) Related parties are generally characterised by the presence of control or influence 

between the two parties. 
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Ind AS 24 ‘Related Party Disclosures’ identifies related parties as, inter alia, key 

management personnel and companies controlled by key management personnel. 

On this basis, PQR Ltd. is a related party of ABC Ltd. 

The transaction is required to be disclosed in the financial statements of ABC Ltd. 

since Mr. Y is Key Management personnel of ABC Ltd.  Also at the same time, it owns 

100% shares of PQR Ltd. ie. he controls PQR Ltd.  This implies that PQR Ltd. is a 

related party of ABC Ltd.   

Where transactions occur with related parties, Ind AS 24 requires that details of the 

transactions are disclosed in a note to the financial statements.  This is required even 

if the transactions are carried out on an arm’s length basis. 

Transactions with related parties are material by their nature, so the fact that the 

transaction may be numerically insignificant to ABC Ltd. does not affect the need for 

disclosure.  

(b) The accounting treatment of the majority of tangible non-current assets is governed 

by Ind AS 16 ‘Property, Plant and Equipment’.  Ind AS 16 states that the accounting 

treatment of PPE is determined on a class by class basis. For this purpose, proper ty 

and plant would be regarded as separate classes.  Ind AS 16 requires that PPE is 

measured using either the cost model or the revaluation model.   This model is applied 

on a class by class basis and must be applied consistently within a class.   Ind AS 16 

states that when the revaluation model applies, surpluses are recorded in other 

comprehensive income, unless they are cancelling out a deficit which has previously 

been reported in profit or loss, in which case it is reported in profit or loss.   Where the 

revaluation results in a deficit, then such deficits are reported in profit or loss, unless 

they are cancelling out a surplus which has previously been reported in other 

comprehensive income, in which case they are reported in other comprehensive 

income. 

 According to Ind AS 16, all assets having a finite useful life should be depreciated 

over that life.  Where property is concerned, the only depreciable element of the 

property is the buildings element, since land normally has an indefinite life.  The 

estimated useful life of a building tends to be much longer than for plant.  These two 

reasons together explain why the depreciation charge of a property as a percentage 

of its carrying amount tends to be much lower than for plant.   

 Properties which are held for investment purposes are not accounted for under  

Ind AS 16, but under Ind AS 40 ‘Investment Property’.  As per Ind AS 40, investment 

properties should be accounted for under a cost model.  ABC Ltd. had applied the 

cost model and thus our investment properties are treated differently from the owner 

occupied property which is annually to fair value. 

(c) As per Ind AS 38 ‘Intangible Assets’, the treatment of expenditure on intangible items 

depends on how it arose.  Internal expenditure on intangible items incurred during 
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research phase cannot be recognised as an asset.  Once it can be demonstrated that 

a development project is likely to be technically feasible, commercially viable, overall 

profitable and can be adequately resourced, then future expenditure on the project 

can be recognised as an intangible asset.  The difference in the treatment of 

expenditure upto 30th September, 2017 and expenditure after that date is due to the 

recognition phase ie. research or development phase. 

4. From 1st April, 2013, the property would be regarded as an investment property since it is 

being held for its investment potential rather than being owner occupied or developed for 

sale.  

 The property would be measured under the cost model.  This means it will be measured at 

` 2,00,00,000 at each year end. 

 On 30th September, 2017, the property ceases to be an investment property.  X Ltd. begins 

to develop it for sale as flats.  The increase in the fair value of the property from 31st March, 

2017 to 30th September, 2017 of ` 30,00,000 (` 29,00,000 – ` 26,00,000) would be 

recognised in P/L for the year ended 31st March, 2018. 

 Since the lease of the property is an operating lease, rental income of ` 10,00,000  

(` 20,00,000 x 6/12) would be recognised in P/L for the year ended 31st March, 2018. 

 When the property ceases to be an investment property, it is transferred into inventory at 

its then fair value of ` 2,90,00,000.  This becomes the initial ‘cost’ of the inventory. 

 The additional costs of ` 60,00,000 for developing the flats which were incurred up to and 

including 31st March, 2018 would be added to the ‘cost’ of inventory to give a closing cost 

of ` 3,50,00,000. 

 The total selling price of the flats is expected to be ` 5,00,00,000 (10 x ` 50,00,000). Since 

the further costs to develop the flats total ` 40,00,000, their net realisable value is  

` 4,60,00,000 (` 5,00,00,000 – ` 40,00,000), so the flats will be measured at a cost of  

` 3,50,00,000.   

 The flats will be shown in inventory as a current asset  

5. Computation of goodwill impairment 

 NCI at fair 
value  

NCI at of net 
assets 

 ` in ‘000 ` in ‘000 

Cost of investment   

   Share exchange (12,000 x 75% x 2/3 x ` 6.50) 39,000 39,000 

   Deferred consideration (7,150 / 1.10) 6,500 6,500 

   Contingent consideration 25,000 25,000 

Non-controlling interest at date of acquisition:   
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Fair value – 3000 x ` 6 18,000  

% of net assets – 68,000 (Refer W.N.) x 25%  17,000 

Net assets on the acquisition date (Refer W.N.) (68,000) (68,000) 

Goodwill on acquisition 20,500 19,500 

Impairment @ 10% 2,050 1,950 

 Working Note:  

Net assets on the acquisition date ` ’000 

Fair value at acquisition date 70,000 

Deferred tax on fair value adjustments [20% x (70,000 – 60,000)] (2,000) 

 68,000 

6. (i) The tax loss creates a potential deferred tax asset for the group since its carrying value 

is nil and its tax base is ` 30,00,000. 

However, no deferred tax asset can be recognised because there is no prospect of 

being able to reduce tax liabilities in the foreseeable future as no taxable profits are 

anticipated. 

(ii) The provision creates a potential deferred tax asset for the group since its carrying 

value is ` 20,00,000 and its tax base is nil. 

This deferred tax asset can be recognised because X Ltd. is expected to generate 

taxable profits in excess of ` 20,00,000 in the year to 31st March, 2019. 

The amount of the deferred tax asset will be ` 4,00,000 (` 20,00,000 x 20%). 

This asset will be presented as a deduction from the deferred tax liabilities caused by 

the (larger) taxable temporary differences. 

(iii) The development costs have a carrying value of ` 15,20,000 (` 16,00,000 – (` 

16,00,000 x 1/5 x 3/12)). 

The tax base of the development costs is nil since the relevant tax deduction has 

already been claimed. 

The deferred tax liability will be ` 3,04,000 (` 15,20,000 x 20%).  All deferred tax 

liabilities are shown as non-current. 

(iv) The carrying value of the loan at 31st March, 2018 is ` 1,07,80,000 (` 1,00,00,000 – 

` 2,00,000 + (` 98,00,000 x 10%)). 

The tax base of the loan is ` 1,00,00,000. 

This creates a deductible temporary difference of ` 7,80,000 (` 1,07,80,000 –  

` 1,00,00,000) and a potential deferred tax asset of ` 1,56,000 (` 7,80,000 x 20%). 
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Due to the availability of taxable profits next year (see part (ii) above), this asset can 

be recognised as a deduction from deferred tax liabilities.  

7. Ind AS 38 specifically prohibits recognising advertising expenditure as an intangible asset.  

Irrespective of success probability in future, such expenses have to be recognized in profit 

or loss.  Therefore, the treatment given by the accountant is correct since such costs 

should be recognised as expenses. 

 However, the costs should be recognised on an accruals basis.  

 Therefore, of the advertisements paid for before 31st March, 2018, ` 7,00,000 would be 

recognised as an expense and ` 1,00,000 as a pre-payment in the year ended  

31st March 2018. 

 ` 4,00,000 cost of advertisements paid for since 31st March, 2018 would be charged as 

expenses in the year ended 31st March, 2019. 

8. As per Ind AS 21 ‘The Effects of Changes in Foreign Exchange Rates’ the asset and liability 

would initially be recognised at the rate of exchange in force at the transaction date ie  

1st January, 2018.  Therefore, the amount initially recognised would be ` 1,36,00,000 ($ 

2,00 000 x ` 68). 

 The liability is a monetary item so it is retranslated using the rate of exchange in force at 

31st March, 2018.  This makes the closing liability of ` 1,30,00,000 ($ 2,00,000 x ` 65). 

 The loss on re-translation of ` 6,00,000 (` 1,36,00,000 – ` 1,30,00,000) is recognised in 

the Statement of profit or loss. 

 The machine is a non-monetary asset carried at historical cost. Therefore, it continues to 

be translated using the rate of ` 68 to $ 1. 

 Depreciation of ` 8,50,000 (` 1,36,00,000 x ¼ x 3/12) would be charged to profit or loss 

for the year ended 31st March, 2018. 

 The closing balance in property, plant and equipment would be ` 1,27,50,000  

(` 1,36,00,000 – ` 1,30,00,000).  This would be shown as a non-current asset in the 

statement of financial position. 

9. All figures are ` in ’000. 

 On 31st March, 2018, A Ltd. will report a net pension liability in the statement of financial 

position.  The amount of the liability will be 12,000 (68,000 – 56,000).  

 For the year ended 31st March, 2018, A Ltd. will report the current service cost as an 

operating cost in the statement of profit or loss.  The amount reported will be 6,200.  The 

same treatment applies to the past service cost of 1,500.  

 For the year ended 31st March, 2018, A Ltd. will report a finance cost in profit or loss based 

on the net pension liability at the start of the year of 8,000 (60,000 – 52,000).  The amount 

of the finance cost will be 400 (8,000 x 5%).  
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 The redundancy programme represents the partial settlement of the curtailment of  a 

defined benefit obligation.  The gain on settlement of 500 (8,000 – 7,500) will be reported 

in the statement of profit or loss.  

 Other movements in the net pension liability will be reported as remeasurement gains or 

losses in other comprehensive income.  

 For the year ended 31st March, 2018, the remeasurement loss will be 3,400 (Refer W. N.).  

 Working Note:  

 Remeasurement of gain or loss 

 ` in ’000 

Liability at the start of the year (60,000 – 52,000)  8,000  

Current service cost  6,200  

Past service cost  1,500  

Net finance cost  400  

Gain on settlement  (500)  

Contributions to plan  (7,000)  

Remeasurement loss (balancing figure)   3,400 

Liability at the end of the year (68,000 – 56,000)   12,000  

10. All figures are ` in ’000. 

 The power generating facility should be depreciated from the date it is ready for use, rather 

than when it would actually start being used.  In this case, then, the facility should be 

depreciated from 1st October, 2017.  

 Although A Ltd. has no legal obligation to restore the piece of land, it does have a 

constructive obligation, based on its past practice and policies.  

 The amount of the obligation will be 1,420, being the present value of the anticipated future 

restoration expenditure (10,000 x 0.142).  

 This will be recognised as a provision under non-current liabilities in the Balance Sheet of 

A Ltd. at 31st March, 2018.  

 As time passes the discounted amount unwinds. The unwinding of the discount for the year 

ended 31st March, 2018 will be 35.5 (1,420 x 5% x 6/12).  

 The unwinding of the discount will be shown as a finance cost in the statement of profit or 

loss and the closing provision will be 1,455.50 (1,420 + 35.5).  

 The initial amount of the provision is included in the carrying amount of the non -current 

asset, which becomes 21,420 (20,000 + 1,420).  
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 The depreciation charge in profit or loss for the year ended 31st March, 2018 is 267.75 

(21,420 x 1/40 x 6/12).  

 The closing balance included in non-current assets will be 21,152.25 (21,420 – 267.75).  

11. As at 31st March, 2017, the mature plantation would have been valued at 17,100 (171 x 100). 

 As at 31st March, 2018, the mature plantation would have been valued at 16,500 (165 x 100). 

 Assuming immaterial cash flow between now and the point of harvest, the fair value (and 

therefore the amount reported as an asset on the statement of financial position) of the 

plantation is estimated as follows: 

 As at 31st March, 2017: 17,100 x 0.312 = 5,335.20. 

 As at 31st March, 2018: 16,500 x 0.331 = 5,461.50. 

 Gain or loss 

 The difference in fair value of the plantation between the two year end dates is 12 6.30 

(5,461.50 – 5,335.20), which will be reported as a gain in the statement or profit or loss 

(regardless of the fact that it has not yet been realised).  

12.  (i)  Calculation of capitalization rate on borrowings other than specific borrowings 

Amount of loan (`) Rate of 
interest 

 Amount of 
interest 

(`) 

7,00,000  12% = 84,000 

9,00,000  11% =   99,000 

16,00,000   1,83,000 

Weighted average rate of interest 
(1,83,000/16,00,000) x 100 

 = 11.4375% 

(ii) Computation of borrowing cost to be capitalized for specific borrowings and 

general borrowings based on weighted average accumulated expenses 

Date of 
incurrence of 
expenditure  

Amount 
spent 

Financed 
through 

Calculation `  

1st April, 2017 1,50,000 Specific 
borrowing 

 
1,50,000 x 9% x 10/12 

 
11,250 

1st August, 2017 2,00,000 Specific 
borrowing 

 
50,000 x 9% x 10/12 

 
3,750 

 General 
borrowing 

 
1,50,000 x 11.4375% x 6/12 

 
8,578.125 
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1st October, 2017 3,50,000 General 
borrowing 

 
3,50,000 x 11.4375% x 4/12 

 
13,343.75 

1st January, 2018 1,00,000 General 
borrowing 

 
1,00,000 x 11.4375% x 1/12 

 
   953.125 

   
 

     37,875 

 Note: Since construction of building started on 1st April, 2017, it is presumed that all 

the later expenditures on construction of building had been incurred at the beginning 

of the respective month. 

(iii) Total expenses to be capitalized for building 

 `  

Cost of building ` (1,50,000 + 2,00,000 + 3,50,000 + 1,00,000) 8,00,000 

Add: Amount of interest to be capitalized     37,875 

  8,37,875 

(iv)       Journal Entry 

Date Particulars  `  `  

31.1.2018 Building account Dr. 8,37,875  

  To Bank account   8,00,0000 

  To Interest payable (borrowing cost)   37,875 

 (Being expenditure incurred on construction 
of building and borrowing cost thereon 
capitalized) 

   

Note: In the above journal entry, it is assumed that interest amount will be paid 
at the year end.  Hence, entry for interest payable has been passed on 31.1.2018.  

 Alternatively, following journal entry may be passed if interest is paid on the 

date of capitalization: 

Date Particulars  `  `  

31.1.2018 Building account Dr. 8,37,875  

  To Bank account   8,37,875 

 (Being expenditure incurred on 
construction of building and borrowing 
cost thereon capitalized) 
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13. Paragraph 7 of Ind AS 16 states that the cost of an item of property, plant and equipment 

shall be recognised as an asset if, and only if:  

(a) it is probable that future economic benefits associated with the item will flow to the 

entity; and 

(b) the cost of the item can be measured reliably. 

 Further, paragraph 9 provides that the standard does not prescribe the unit of measure for 

recognition, i.e., what constitutes an item of property, plant and equipment. Thus, 

judgement is required in applying the recognition criteria to an entity’s specific 

circumstances. 

 Paragraph 16, inter alia, states that the cost of an item of property, plant and equipment 

comprise any costs directly attributable to bringing the asset to the location and condition 

necessary for it to be capable of operating in the manner intended by management. 

 In the given case, railway siding, road and bridge are required to facilitate the construction 

of the refinery and for its operations. Expenditure on these items is required to be incurred 

in order to get future economic benefits from the project as a whole which can be 

considered as the unit of measure for the purpose of capitalisation of the said expenditure 

even though the company cannot restrict the access of others for using the assets 

individually. It is apparent that the aforesaid expenditure is directly attributable to bringing 

the asset to the location and condition necessary for it to be capable of operating in the 

manner intended by management. 

 In view of this, even though ABC Ltd. may not be able to recognize expenditure incurred 

on these assets as an individual item of property, plant and equipment in many cases 

(where it cannot restrict others from using the asset), expenditure incurred may be 

capitalised as a part of overall cost of the project. From this, it can be concluded that, in 

the extant case the expenditure incurred on these assets, i.e., railway siding, road and 

bridge, should be considered as the cost of constructing the refinery and accordingly, 

expenditure incurred on these items should be allocated and capitalised as part of the 

items of property, plant and equipment of the refinery. 

 Depreciation 

 As per paragraph 43 and 47 of Ind AS 16, if these assets have a useful life which is different 

from the useful life of the item of property, plant and equipment to which they relate, it 

should be depreciated separately. However, if these assets have a useful life and the 

depreciation method that are the same as the useful life and the depreciation method of 

the item of property, plant and equipment to which they relate, these assets may be 

grouped in determining the depreciation charge. Nevertheless, if it has been included in 

the cost of property, plant and equipment as a directly attributable cost, it will be 

depreciated over the useful lives of the said property, plant and equipment.  

 The useful lives of these assets should not exceed that of the asset to which it relates.  
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 Presentation 

 These assets should be presented within the class of asset to which they relate.  

14. Before the merger, Cloudustries and MicroFly are the subsidiary of Smart Technologies 

Inc. As the control is not transitory, the proposed merger will fall under the category of 

Business combination of entities under common control, it will be accounted as per 

Appendix C of Ind AS 103 “Business Combination” and Pooling of Interest Method would 

be applied. 

Statement showing the calculation of assets/liabilities taken over and treatment of 

difference between consideration and assets/liabilities taken over:  

(a) Net asset taken over:          (` in crore) 

Assets taken over:  

Property, Plant and Equipment 

Cash and cash equivalents 

Other current assets 

Trade Receivables 

Total - A 

15.00 

10.00 

8.00 

10.00 

43.00 

Less: Liabilities taken over:  

Borrowings 

Current Liabilities 

Total - B 

2.80 

20.00 

22.80 

Net Asset taken over (A-B) 20.20 

(b) Treatment of difference between consideration and assets/liabilities taken 

over:             (` in crore) 

Net Asset taken over - A 20.20 

Less: Purchase Consideration - B 18.00 

Difference (A – B)   1.80 

The difference between consideration and assets/liabilities taken over of ` 1.80 crore 

shall be transferred to capital reserve. 

15. 1. Identification of Corporate Assets of M Ltd. 

Here, the corporate assets are the headquarter building and the research centre.  

For corporate building 

Since, the carrying amount of the headquarter building can be allocated on a 

reasonable and consistent basis to the cash-generating units under review. 

Therefore, only a ‘bottom-up’ test is necessary. 
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For research centre 

Since the carrying amount of the research centre cannot be allocated on a reasonable 

and consistent basis to the individual CGU under review. Therefore, a ‘top -down’ test 

will be applied in addition to the ‘bottom-up’ test. 

2. Allocation of Corporate Assets 

Since the estimated remaining useful life of A’s CGU is 10 years, whereas the 

estimated remaining useful lives of B and C’s CGU are 20 years, the carrying amount 

of the headquarter building is allocated to the carrying amount of each individual 

cash-generating unit on weight basis. 

3. Calculation of a weighted allocation of the carrying amount of the headquarter 

building            (Amount in ` lakhs) 

On 31st March, 2018 A B C Total 

Carrying amount    (A) 100 150 200 450 

Useful life  10 years 20 years 20 years  

Weighting based on useful life  1 2 2  

Carrying amount after weighting  100 300 400 800 

Pro-rata allocation of the building  12.5% 37.5% 50% 100% 

 (100/800) (300/800) (400/800)  

Allocation of the carrying amount 
of the building (based on pro-rata 
above)       (B) 

 
18.75 

 
56.25 

 
75 

 
150 

Carrying amount (after allocation 
of the building)  

118.75 206.25 275 600 

4. Calculation of Impairment Losses 

(i) Application of ‘bottom-up’ test           (Amount in ` lakhs) 

31st March, 2018  A  B  C 

Carrying amount (after allocation of the 
building) (Refer Point 3 above) 

118.75 206.25 275 

Recoverable amount (given in the question)       199       164  271 

Impairment loss           0      (42)    (4) 
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(ii) Allocation of the impairment losses for cash-generating units B and C  

   (Amount in ` lakhs) 

Cash-generating unit  B  C 

To headquarter building  (12) (42*56/206)  (1) (4*75/275) 

To assets in cash-generating 
unit  

(30) (42*150/206)  (3) (4*200/275) 

 (42) (4) 

 Since the research centre could not be allocated on a reasonable and consistent 

basis to A, B and C’s CGU, M Ltd. compares the carrying amount of the smallest 

CGU to which the carrying amount of the research centre can be allocated (i.e., 

M as a whole) to its recoverable amount, in accordance with the ‘top-down’ test. 

(iii) Application of the ‘top-down’ test     (Amount in ` lakhs) 

31st March, 2018  A  B  C  Building  Research 
centre 

M Ltd. 

Carrying amount  100 150 200 150 50 650 

Impairment loss 
arising from the 
‘bottom-up’ test  

– (30) (3) (13) – (46) 

Carrying amount 
after the ‘bottom-
up’ test  

100 120 197 137 50 604 

Recoverable 
amount  

     720 

Since recoverable amount is more than the carrying amount of M Ltd., no 

additional impairment loss has been resulted from the application of the ‘top -

down’ test.  Only an impairment loss of ` 46 lakhs will be recognized as a result 

of the application of the ‘bottom-up’ test. 

16.      Consolidated Balance Sheet as on 31.3.2018 

Particulars Note No.  (` in lakh) 

I. Equity and Liabilities   

 (1) Shareholder's Funds   

  (a) Share Capital 1 1,000 

  (b) Reserves and Surplus  2 2,206 

 (2) Current Liabilities 3 950 

Total  4,156 
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II. Assets   

 (1) Non-current assets   

   Fixed Assets 4 1,060 

   Non-current investment (Investment in  
   Associate Dharam Ltd.) 

5 356 

 (2) Current assets 6 2,740 

Total  4,156 

 Notes to Accounts 

  `  in lakh 

1. Share Capital   

 100 lakh Equity shares of ` 10 each fully paid up  1,000 

2. Consolidated Reserves and Surplus as on 31.3.2018   

 Balance of Reserves and surplus of Sumati Ltd. as on 
31.3.2018 

1,240  

 Add: Post-acquisition reserves and surplus of Sheetal Ltd. 
(subsidiary) 

910  

 Profit accumulated over the years on investment of 
Sumati Ltd. (304-300) 

4  

 Post-acquisition reserves and surplus of Dharam Ltd. (640-
480) x 40%  

     64  

 Less: Goodwill amortised for the period (24/2)     (12) 2,206 

3. Current Liabilities    

  Sumati Ltd. 460  

  Sheetal Ltd. 490 950 

4. Fixed Assets   

  Sumati Ltd. 640  

  Sheetal Ltd. 420 1,060 

5. Non-current investment (Investment in Associate Dharam 
Ltd.) 

  

 Carrying amount of Investment in Associate. [W.N.2] 304  

 (Identified goodwill included in the above ` 24 lakh) 
[W.N.3] 

  

 Add: Increase in reserves and surplus during the year 
        (640-480) x 40%  

64  

 Less: Goodwill written off in the fourth year (` 24 lakh x ½) (12) 356 
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6. Current assets   

  Sumati Ltd. 1,260  

  Sheetal Ltd. 1,480 2,740 

Working Notes: 

1. Cost of Control on acquisition of shares in Dharam Ltd. and amortization of 

goodwill 

 `  in lakh 

Investment by Sumati Ltd. 600 

Less: Share capital (300 x 80%) (240) 

 Capital profit (pre-acquisition) (300 x 80%) (240) 

Goodwill 120 

Less: Amortization for 3 years [(120/5) x3]  (72) 

Carrying value of goodwill after 3 years    48 

2. Ascertainment of carrying value of investment in Dharam Ltd. disposed off 

and retained 

 `  in lakh 

Net Assets of Dharam Ltd. on the date of disposal 700 

Less: Minority’s interest in Dharam Ltd. on the date of disposal  
   (700 x 20%) 

 
(140) 

Share of Sumati Ltd. in Net Assets 560 

Add: Carrying value of Goodwill (Refer W.N.1)     48 

Total value of investment in Dharam Ltd. as on 1.4.2017 608 

Less: Carrying Value of investment disposed off 
  [` 608 lakh x (12 lakh /24 lakh)] 

 
(304) 

Carrying Value of investment retained by Sumati Ltd.    304 

3. Goodwill arising on the Carrying Value of Unsold Portion of the Investment 

 ` in lakh 

Carrying value of retained 40% holdings in Dharam Ltd. as on  
1st April, 2017 

304 

Less: Share in value of equity of Dharam Ltd., as at date of  
    investment when its subsidiary relationship is transformed 
    to an associate (700 x 40%) 

 
 

(280) 

Goodwill arising on such investment under Equity method as per 
AS 23 

 
  (24) 
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17. As provided in Ind- AS 111 - Joint Arrangements - this is a joint arrangement because two 

or more parties have joint control of the property under a contractual arrangement. The 

arrangement will be regarded as a joint operation because Alpha Ltd. and Gama Ltd. have 

rights to the assets and obligations for the liabilities of this joint arrangement. This means 

that the company and the other investor will each recognise 50% of the cost of constructing 

the asset in property, plant and equipment.  

 The borrowing cost incurred on constructing the property should under the principles of  

Ind AS 23 ‘Borrowing Costs’, be included as part of the cost of the asset for the period of 

construction.  

 In this case, the relevant borrowing cost to be included is ` 50,00,000 (` 10,00,00,000 x 

10% x 6/12).  

 The total cost of the asset is ` 40,50,00,000 (` 40,00,00,000 + ` 50,00,000)  

` 20,25,00,000 crores is included in the property, plant and equipment of Alpha Ltd. and 

the same amount in the property, plant and equipment of Gama Ltd. 

 The depreciation charge for the year ended 31 March 2018 will therefore be ` 1,01,25,000 

(` 40,50,00,000 x 1/20 x 6/12) ` 50,62,500 will be charged in the statement of profit or loss 

of the company and the same amount in the statement of profit or loss of Gama Ltd. 

 The other costs relating to the arrangement in the current year totalling ` 54,00,000 

(finance cost for the second half year of ` 50,00,000 plus maintenance costs of ` 4,00,000) 

will be charged to the statement of profit or loss of Alpha Ltd. and Gama Ltd. in equal 

proportions- ` 27,00,000 each. 

18. The loan to the supplier would be regarded as a financial asset. The relevant accounting 

standard Ind AS 109 provides that financial assets are normally measured at fair value.  

 If the financial asset in which the only expected future cash inflows are the receipts of 

principal and interest and the investor intends to collect these inflows rather than dispose 

of the asset to a third party, then Ind AS 109 allows the asset to be measured at amortised 

cost using the effective interest method.  

 If this method is adopted, the costs of issuing the loan are included in its initial carrying 

value rather than being taken to profit or loss as an immediate expense.  This makes the 

initial carrying value ` 2,10,00,000.  

 Under the effective interest method, part of the finance income is recognised in the current 

period rather than all in the following period when repayment is due. The income 

recognised in the current period is ` 14,49,000 (` 2,10,00,000 x 6.9%)  

 In the absence of information regarding the financial difficulties of the supplier the financial 

asset at 31st March, 2018 would have been measured at ` 2,24,49,000 (` 2,10,00,000 + 

14,49,000). The information regarding financial difficulty of the supplier is objective 

evidence that the financial asset suffered impairment at 31st March 2018.  
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 The asset is re-measured at the present value of the revised estimated future cash inflows, 

using the original effective interest rate. Under the revised estimates the closing carrying 

amount of the asset would be ` 2,05,79,981 (` 2,20,00,000 / 1.069).  The reduction in 

carrying value of ` 18,69,019 (` 2,24,49,000 – 2,05,79,981) would be charged to profit or 

loss in the current period as an impairment of a financial asset.  

 Therefore, the net charge to profit or loss in respect of the current period would be  

` 4,20,019 (18,69,019 – 14,49,000). 

19. Journal entries in the books of P Ltd (without modification of service period of 

stock appreciation rights)          (` in lakhs)  

Date Particulars Debit Credit 

31.03.2018 Profit and Loss account    Dr. 

 To Liability against SARs 

(Being expenses liability for stock 
appreciation rights recognised) 

15.75  

15.75 

31.03.2019 Profit and Loss account    Dr. 

 To Liability for SARs 

(Being expenses liability for stock 
appreciation rights recognised) 

17.25  

17.25 

31.03.2020 Profit and Loss account    Dr. 

 To Liability for SARs 

(Being expenses liability for stock 
appreciation rights recognised) 

15.38  

15.38 

31.03.2021 Profit and Loss account    Dr. 

 To Liability for SARs 

(Being expenses liability for stock 
appreciation rights recognised) 

17.02  

17.02 

  Journal entries in the books of P Ltd (with modification of service period of 

stock appreciation rights)         (` in lakhs) 

Date Particulars Debit Credit 

31.03.2018 Profit and Loss account    Dr. 

 To Liability for SARs 

(Being expenses liability for stock 
appreciation rights recognised) 

15.75  

15.75 

31.03.2019 Profit and Loss account    Dr. 

 To Liability for SARs 

28.25  

28.25 
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(Being expenses liability for stock 
appreciation rights recognised) 

31.03.2020 Profit and Loss account    Dr. 

 To Liability for SARs 

(Being expenses liability for stock 
appreciation rights recognised) 

20.50  

20.50 

Working Notes: 

Calculation of expenses for issue of stock appreciation rights without modification of 

service period   

For the year ended 31st March 2018 

  = ` 210 x 400 awards x 75 employees x 1 year /4 years of service  

  = ` 15,75,000  

For the year ended 31st March 2019 

  = ` 220 x 400 awards x 75 employees x 2 years /4 years of service - ` 15,75,000  

    previous recognised  

  = ` 33,00,000 - ` 15,75,000 = ` 17,25,000  

For the year ended 31st March 2019 

  = ` 215 x 400 awards x 75 employees x 3 years/4 years of service - ` 33,00,000   

   previously recognised  

  = ` 48,37,500 - ` 33,00,000 = ` 15,37,500  

For the year ended 31st March, 2021 

  = ` 218 x 400 awards x 75 employees x 4 years / 4 years of service – ` 48,37,500  

    previously recognised 

  = ` 65,40,000 – ` 48,37,500 = ` 17,02,500 

Calculation of expenses for issue of stock appreciation rights with modification of 

service period   

For the year ended 31st March 2018  

 = ` 210 x 400 awards x 75 employees x 1 year / 4 years of service = ` 15,75,000  

For the year ended 31st March 2019  

 = ` 220 x 400 awards x 75 employees x 2 years / 3 years of service - ` 15,75,000  

  previous recognised  
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 = ` 44,00,000 - ` 15,75,000 = ` 28,25,000  

For the year ended 31st March 2020 

 = ` 215 x 400 awards x 75 employees x 3 years/ 3 years of service - ` 44,00,000  

  previous recognised  

 = ` 64,50,000 - ` 44,00,000 = ` 20,50,000. 

20. A discontinued operation is one that is discontinued in the period or classified as held for 

sale at the year end.  The operations of G Ltd were discontinued on 30 th April 2018 and 

therefore, would be treated as discontinued operation for the year ending 31st March 2019.  

It does not meet the criteria for held for sale since the company is terminating its business 

and does not hold these for sale. 

 Accordingly, the results of G Ltd will be included on a line-by-line basis in the consolidated 

statement of comprehensive income as part of the profit from continuing operations of U 

Ltd for the year ending 31st March 2018. 

 As per para 72 of Ind AS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’, 

restructuring includes sale or termination of a line of business. A constructive obligation to 

restructure arises when:  

(a)  an entity has a detailed formal plan for the restructuring  

(b)  has raised a valid expectation in those affected that it will carry out the restructuring 

by starting to implement that plan or announcing its main features to those affected 

by it.  

 The Board of directors of U Ltd have decided to terminate the operations  of G Ltd. from 

30th April 2018. They have made a formal announcement on 15th February 2018, thus 

creating a valid expectation that the termination will be implemented. This creates a 

constructive obligation on the company and requires provisions for restructuring.  

 A restructuring provision includes only the direct expenditures arising from the restructuring 

that are necessarily entailed by the restructuring and are not associated with the ongoing 

activities of the entity. 

 The termination payments fulfil the above condition. As per Ind AS 10 ‘Events after 

Reporting Date’, events that provide additional evidence of conditions existing at the 

reporting date should be reflected in the financial statements. Therefore, the company 

should make a provision for ` 520 lakhs in this respect.  

 The relocation costs relate to the future conduct of the business and are not liabilities for 

restructuring at the end of the reporting period. Hence, these would be recognised on the 

same basis as if they arose independently of a restructuring.  
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 The operating lease would be regarded as an onerous contract.  A provision would be 

made at the lower of the cost of fulfilling it and any compensation or penalties arising from 

failure to fulfil it. Hence, a provision shall be made for ` 410 lakhs.  

 Further operating losses relate to future events and do not form a part of the closure 

provision. 

 Therefore, the total provision required = ` 520 lakhs + ` 410 lakhs = ` 930 lakhs 

Note:  

Various issues related to the applicability of Ind AS / implementation under Companies 
(Indian Accounting Standards) Rules, 2015, are being raised by preparers, users and 
other stakeholders.  Although many clarifications have been issued by way of ITFG 
Bulletins or EAC Opinion, still issues are arising on account of varying interpretations on 
several of its guidance.  Therefore, alternate answers may be possible for the above 
questions based on standards, depending upon the view taken. 
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